                                           FORENSIC MCQs   

1. The first permanent Teeth erupt at:
A) 5 years
B) 6 years

C) 7  years

D) 8 years

E)  9 years

2. Adibocere occurs in bodies submerged under the water after death for a period of:
A) 5 days

B) 1 week

C) 2 weeks

D) 3 weeks

3.A man with heat collapse has:
A) Cyanosis

B) Slow pulse

C) Slow respiration

D) Subnormal temperature

4.Trans-sexuality is :

A) Female pseudo  hermaphrodite 
B) Male pseudo  hermaphrodite
C) Conflict between gender & physical sex
D) None of the above alone.
5.Blue line on the gum indicates poisoning with:
A) Lead

B) Mercury

C) Arsenic

D) Cadmium

6.PM identification is difficult in case of :

A) Severe burns

B) Severe putrifaction

C) Multiple stab wounds

D) Complete charring
7.Contusion may take the shape of striking surface if caused by:
A) Stone

B) Tire

C) Stick

D) Hammer

8. A 55 years old man had a fracture of the right tibia. After 3 days the most expected dangerous complication is:

A) Shock
B) Fat embolism

C) Bone marrow embolism 

D) Reactionary hemorrhage
9. The weakest point during iris print identification in ML practice is :

A) Cataract

B) Fear

C) Unreliability of device

D) No large database

10. Which of the following affect the shape of electric burn:

A) Type of current

B) Age of victim

C) Pathway of the current

D) Exposed body surface area

11. Which of the following causes pressure at ….:

A) Stone 

B) Knife

C) Rope

D) Stick
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12. The mechanism of death from cold is:

A) Carboxy haemgolobin formation
B) Central nervous system depression

C) Red asphyxia

D) Respiratory enzyme inhibition

E) Paralysis of circulation 

13. Which of the following predispose in sun stroke:

A) Age

B) Sex

C) Physical health

D) Atropine

E) Morphine

14. Which of the following is a mechanism of RM: 
A) Loss of muscle tone

B) Loss of  reflexes

C) Depletion  of ATP

D) Sever nervous stress
15. Stab penetrating wound!!!! injury to:

A) The deep muscles

B) The subcutaneous tissue

C) Dural or synovial cavity

D) Pleural or pericardium

E) C &D

16. Contusion is yellow due to:

A) Biliverdin in 5th day
B) Biliverdin in 7th  day
C) Reduced Heamoglobin in 3rd day
D) Bilirubin in 2nd day
E) Bilirubin in 5th day
17. Hypostasis in case of hanging is found in :
A) The back

B) Head & neck

C) Shoulder

D) Lower limbs

18. Bridging of tissues occurs in:

A) contused wounds
B) stab wounds
C) incised wounds
D) cut lacerated wounds
E) puncture wounds
19. Red scars from burns stay up to :

A) 21 days

B) 1 month

C) 2 months

D) 4 months
20. A cut wound looks like a lacerated wound:

A) Axilla

B) Forehead

C) Scalp

D) Chest wall

E) Over the chin of the tibia

21. Healing by color changes occurs in:

A) Cut wound

B) Contusion

C) Contused wounds

D) Abrasion

22. The best treatment for heat cramps is:

A) IV fluid

B) Increase salt intake

C) Ice bags

23. Mummification occurs when the climate is:
A) Dry & hot

B) Dry & cold

C) Moist & hot

D) Moist & cold

24. ML classification of wounds:

A) Depending on the instrument

B) Used in the report of dead victim

C) Related to severity of wounds

D) Related to the duration of treatment

E) Anatomical in nature

25. Permanent infirmity means:

A) Loss of organ function

B) Loss of organ

C) Dangerous wounds

D) Loss of more than one organ

E) Loss of organ or its function

26. The most dangerous type of wound is:
A) Abrasion

B) Cut wound

C) lacerated wounds
D) bruise
E) Stab penetrating wound

27. Abrasion never cause :

A) Pressure

B) Bleeding

C) Dry scab

D) Tetanus infection

E) Embolism

28. The time passed since death in a cold & stiff cadaver :

A) 2-4 hours

B) 4-8 hours نختار هذي اذا قال هوت اند ستيف
C) 8-12 hours

D) More than0 12 hours

29. Hypostasis is:
A) PM heamolytic changes

B) PM gravitation of blood
C) Extravasation of blood

D) Subcutaneous hemorrhage
30. Ionizing radiation cause:
A) Dehydration

B) Reticulo-cytosis

C) Thrombocytosis

D) Lymphocytopenia

31. Red color hypostasis: 

A) Asphyxia

B) Co  poisoning

C) Severe burns
D) Morphine  poisoning

32. Age of 16 years in female is estimated by doing an x-ray on :

A) Wrist joint اذا قالي 18
B) Knee joint

C) Ankle joint

D) Elbow joint

E) Humerus bone

33. Union of all parts of femur in male:
A) 15 years

B) 16 years

C) 19 years

D) 21 years

E) 23 years
34. Foot prints are most commonly used for:
       A)Trailing the enemies in desert.
       B)None mixing of infants in Hospitals.
       C) Solving of crimes.
       D) a & b.
       C)b & c. 
35. The mechanism of death from stab wounds is:

A) Hemorrhage.

B) Truama 

C) Shock 

D) A & B

E) B & C
36. Hitting by thick heavy iron bar (stick) causes: 

A) Abrasion.

B) Contusion 

C) Curved contusion 

D) Lacerated wound

E) Bruise. 

37. Rigor Mortis appears First in: 

A) Ms. of  hand. 

B) Ms. of neck. 

C) Eyelid. 

D) Ms. of abdominal wall. 

E) Ms of lower limbs. 

38. Saggital sutures closes at :

A) Twenty years

B) Thirty years

C) Forty years (coronal)
D) Fifty years  
39. Presence of canine in a child indicates that the child is :

A) Below 6 months

B) Above 6 months and below 12 months

C) Above 12 months and below 18 months

D) Above 18 months 

40. The age of discrimination is:

A) Six years

B) Seven years
41. Sure signs of death start to appear:

A) At the moment of death

B) After 1 hour

C) After 2 hours bec rigor mortis
42. X-ray for 21 female will show fusion of

A) Iliac crest اتوقع
B) Iliac tuberosity. 
 43. Primary flaccidity is due to:

A) Loss of muscle tone

B) Depletion of ATP 

44. Cadaveric spasm is due to:

A) Ante-mortem tension
45. A person has heat cramps he will have :

B) Subnormal temperature

C) Normal temperature

D) Fever

E) Hyperpyrexia
46. Reliable evidence of sex :

A) Ovaries and testes

B) External genitalia

C) Sex hormones

D) Hair distribution 

47. Complete identification means identification of :

A) Sex and age

B) Individuality
48. If the knife penetrates the heart:

A) Stab punctured wound

B) Stab penetrating wound
49. Lucid interval is the period of :

A) Concussion

B) Amnesia

C) Consciousness

D) Profound coma

E) ?? 
50. Concussion lasts for:

A) Minutes

B) 1h

C) 6 h

D) 12 h

E) 12 – 24 h. 

51. A man was hit by head of an axe will result in :

A) Fissure fracture

B) Depressed fracture

C) Comminuted fracture

D) Cut fracture

E) ?? 
52. Brain compression due to fissure fracture:

A) Traumatic injury

B) Followed by concussion

C) Caused by hemorrhage

D) Caused by depressed bone

E) ??
53. Brain contusion means:

A) Pia mater is opend

B) Pia mater is lacerated

C) There is skull bleeding اتوقع
D) There is skull fracture

E) ??  
54. Best sign for lateralization is :

A) Weak rapid pulse

B) Unequal constricted pupils

C) Slow irregular pulse

D) Loss of reflexes

E) ??

55.  39 years old man was involved in a car accident, he was diagnosed as brain compression, the diagnosis due to the presence of:

A) Constricted pupils

B) Muscle twitch

C) Slow full pulse

D) Loss of reflexes

E) ??
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56. A man sustained upper cut in the head of mandible after boxing match , this can cause :

A) Fissure fracture

B) Depressed fracture

C) Cut fracture

D) Cut comminuted fracture

E) Ring fracture

57. What is the most dangerous complication of depressed fractures:

A) Concussion

B) Intracranial hemorrhage

C) Cerebral compression

D) Cerebral laceration

E) ??

58. The handle of axe will cause:

A) Fissure fracture

B) Depressed fracture

C) Cut fracture

D) Cut comminuted fracture

E) Polar fracture             

59.  Skull with multi injury was found in the desert, there were bone erosion affect the inner tables, the most likely cause of death:
A) Brain compression

B) Concussion

C) Infection , sepsis

D) Neurogenic shock

E) ??
60. A woman brought to the  ER with a Hx of head trauma since 3 hrs , she was unconscious for seconds the best Rx is :

A) Morphine for pain

B) Observation for 24 hrs

C) Take care of Her BP

D) Sedation

E) ??

61.  A contra coup injury is a brain injury:

A) Under the  impact point

B) Due to depressed skull bone

C) Caused by hemorrhage

D) Opposite the  impact point

E) Non of the above
62.  A man was involved in RTA, they Dx him as anterior fossa fracture, this is due to:

A) Black eye

B) Eye contusion

C) Polar fracture

D) Head injury

E) ??

63. The commonest fate of concussion is:

A) Korsakoff’s psychosis

B) Retrograde amnesia

C) Post traumatic neurosis

D) Death

E) Complete recovery
64. Skull fracture that result from falling from height on the buttock is:

A) Comminuted

B) Indirect fracture

C) Polar

D) Ring

E) Depressed
65. The pulse in concussion is:

A) Slow

B) Slow & full

C) Weak

D) Weak & rapid

E) ??

66. Concussion must be considered after:

A) Head trauma اذا كان يبغى السبب
B) Loss of consciousness اذا كان يبغى معناها
C) Lacerated scalp injury

D) Brain compression

E) ??

67. The side of brain compression is best diagnosed by:

A) Sudden loss of consciousness

B) Unequal pupils

C) Conjugate deviation of eyes

D) Projectile effortless vomiting

E) Weak reflexes
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